Missing Numbers in Equations (A)

72 +-V=28
8+-A=2
24 -H =4
0+-8=3
O+7=3
O+9=5
72 +-90=9
36 +1=9
45 - 4 =5
24+ =3

24 +A=4

56 -X=8

8l+-%=9

36 +n=06

16 -0 =8

56 -X=8

28+[]=4

18=+MH=9

28+ (O =4
32+-A=8
36 -A=6
35+-O=7
35-(O =5
V+-9=3

8+<¢=2

O+2=7

18+-4=6
O+2=9

What value does each shape represent?

X+1=3

10+-0=2

Math-Drills.com




Missing Numbers in Equations (A) Answers

24 -H =4

O+8=

0 =24

O+7=3
0=21

O+9=5
O =45

72+-0=9
=28

36 -+1=9
O=4

24 +A=4
A=6

56 -X=8
X=7

81 +-%=9
% =9

O+-6=28
O0=48

16 -0 =8
0 =

56 -X=8

280 =4
O=7

32+-A=8
A=4

36 -A=6

18- =6
¢=3

O+2=9
® =18

What value does each shape represent?
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